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Level: Intermediate Semester: Spring, 2022
Course & Code | Statistics-1 (394) L Maximum Marks: 100
Time Allowed: 03 Hours - Pass Marks: 40

Nutt ATTEMPT FIVE QUESTIONS. ALL CARRY EQUAL MARHB.

Find the expected number of women on the committes.

Q. No. Questivns Marks
{n) What are the different methods of presu ntation of statistical data? (10+10)
Q.No.1 | (b) Define descriptive and inferential statistics and diffgrentiate between them.
(a) Differentiate between (i) Population nml&mpln (if) Parameterand Statistic | (10+10)
Q.No.2 | (b) Find the mean and G, ﬁ fnrthr.: following data !
Classes | 0-10 [] 10-14 90100 1 mg-tu:i 105-120 | 120-140
I 40 110 I&l:l . 200 120 30 20
(a) Define arithmetic meanand give 1is merits and demerits: (10+10)
Q.No.3 | (b) Calc ulate @, and Py, for the data given below: - '
Groups | 25:50 | 50-75. | 75-100 m_u;.;z:_i_!;;»ssu | 150-175
frequency [ 10 {12~ ‘|6 “H' |18
(a) Explain the dilference between absolvite dispersion and n:ialwc dispersion. | (10+10)
Q.No4 | (b) Calculate variance and co-cffi icient of variation from the following data:
X 525 500 475 1450 425 400 375
f 24 35 46 137 47 34 22 i
(a) Defite an i number and dést rI!i.-. the different types of index num 10+10)
Q.No.5 | (b) Compiiie P r’__:'plk%rﬁr il shm a5 bse s P d [
Commogitps ||| (5| | 195 JIlEEMmYL Y,
i rnce anlity Price Quantity
A 2 50 R 40
B 3 10 R 5
18 C 4 5 4 5
(a) Duscuss the definition of probability with different approaches. (10+10)
Q.No.6 | (b} A bex contains 9 tickets numbered | 1o 9. If 3 tickets are drawn from the
box one at a time, find the probability that they are alternately either odd even
odd or even odd even?
(a) Define random variable and give an example to explain it. (10+10)
Q.Ne.7 | (b) Compute mean, standard deviation and cocfTicient of variation from the data
(X 0 | 2 3 3 5
P(x) 6/36 1036 [8/36 6/36 4736 2/36
(a) What is a binomial expeniment? Give its properties. (10+10)
Q.No.8 | (b) A commuttee of size 5 is to be selected at random from 3 women and § men,
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Note: ATTEMPT FIVE QUESTIONS. ALL CARRY EQUAL MARKS.

Q. No. Questions

Define the following terms.
Q.Ne.l1 |1) Population and sample 1i) Parameter and statistic
ui} Cruantitative vansble  iv) Qualitative variable

(20

}Wmm&wmhdnmm
b Dcﬁntl-hnnpm Draw a Hisi
X 37 42
' f ! 17 2%

Q.No.2

47
47

52
34

62 67
14 4

37
il

for the fullﬂwm_‘_ﬁ'qum distribution:

(10+

Q.No.3 1o ordinary mean and why?

per hour. Find the & al which the bus has traveled.

lim&mmwiﬁhﬁmﬂhm:hﬂmmuuwﬂm

b) A bus traveling 200 miles has ten stages at equal intervals. The speed of the bus in
the various stages was obscrved 1o be 10,15, 20, 75, 20, 30, 40, 50, 30, and 40 miles

(10+

a) Explasn the dil difference betwesn mdm relanve dispersion
b]i:‘mnmmﬁ-ﬂm the mmedian for the data gi
X 6 012 16 (18 |20 |22
{ 5 18

m ;m;n 4 |7 3 1 !

Q.Ne.d

below:

(10+

2) Differentiate between the simple and composite index numbers.
Q.No.5

'b) Find index number using (i) 1977 as base (ii) average of the price as base:

Years [1977 1978711979 [ 19807 1981 [ 1982 ] 1983 ] 1984 | 1985

Prices{22.5 {25 1275 |30 |35 /325'03%5 (4715 |45

(10+

-}D:mnlh:hmcﬂndpmmmdtfmmnrpmb-hdwmﬁmu
b} In a poker hand consisting of 5 cards, what is the probability of holding?

Q.No.6
i)2aces and 2 kings i) 5 spades

(10+

b) Caiculate mean and variance of the Ii:lhwgl probability distribution:
X 0 1 2 4
P(x) 1/126 | 201126 | 60126 lﬂ-’l!ﬁ 5/126
Verify that E (2X+3)=2 E(X) r 3

Q.Ne.7

&) What do you mean by expected value? What are the properties of expectation?

(10+

a) Define the binomial probability distribution.
Q.No.8

on this by finding the values of parameters.

b) Is it possible to have a binowniial distnbution with mean = 5 and S.d = 47 comment

(10+
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Note: ATTEMPT FWE QUESTIONS. GUESTION # 1 IS COMPULSORY.

| A1 Fal e DEanks
. A yr'bable fs callcd

i,

In quuadinshive date, the most sudsble svege o
A nremonre off divpersion oxqpressed aem oo Theient (senbed

20

wibien s value ciomot b doantly difarminad
i, Tn Hitogrom, with snequal class intervals, (he ween ol esuh regbangle is
| frnguency.

e

___ meansres of dispersion.

v . bolh quantities end pre - 908 b s
. vl Two avents are if they have 1 —umm o paliit
vii.  The probubility fusction s ________ ‘ufion
wil. T muman 0l penhab ity dissibution se . 'od
w Rincmia) distribution has b 1 MEET L
w.  Binontal distribation b aymmetrioal whoe
@ 9 & w Diainguish batwean primary gnd soe o v ey s and ghve dilfemnt wumoes frivn which e
ire pbinined,
8) Whil e dilfersnt medds of repease | don « | atislical dat’!
) _ 18+
O ¥ 1 o) Liofine arittmte smeer, geometeio mic s w1 monie s, Faplain the itings when ench
of them is uaod perjectiy?
! b} Calculate geometric mcad for the fol: s (n muped dais of e persanings changes in e
i wielght of eight animals,
_ 45,360,135, 40,48,32. 42 57 *=e 2
. —_— 8410
. 04: ol Expluin the differevcs betwoen abboiul: dbjcoion and misive dispersion. Dekerihe de
proporties of My sendend deviution,
& Calcolie fird foor mroments shost wems fof the ollowing s of sxaminstion marks.
. k]
2 W3 a) What iy an index numberT Give the ws.. eTano 1 sa nunbar.,
&) Crangute Finher's indox mum ber frir the foolos o 0 dadae
.w.'.".:'.f“n. (PR 2

" |
[T = ..I |
i Y Sy U L

=

(1o 11l

@ ¥ & ) Do mutually gxneluabve, indopenden . dur 1 lent event
B} A sel of cight carés cotaing ot Jokur \ wmd i’ e two players, A choose 5 cards sl maudum,

I takics the semaiting 3 curds, whist s the © womitlie that A buy a jokes?
{8

Q. ¥ 7 o) Define random vaciable and gve s et ccalninil
B) There are three childred in a family. La the mndom variubde desote the number of boys m

fmnily. Write down the possible outcontes and the values mssigned by the madom vanabie
assurming equal chances for hoys and jids
]

(L WA @) Fimd the biroanll distribufioe whoe mean i 1L sl wtandard deviation i 3.
& The icidence of an oocupativuni disease in an induary & soch thel fhe workory baye 20%
ehange of yuffering from it What is the probability thet out of § workmen:
i7 it moro thes 2 will exich the disemns

1 i) 4 or more will canch the disease
(t0+i0)

i Eﬂﬂ'.lﬂ'f"'
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Note: ATTEMPT FIVE QUESTIONS. QUESTION NO. 115 COMPULSORY.

"W

Q. LIFIN in the blanks, N 0
J*l,;f
1 Aampleisn oo, = of the population, ﬂ
] A quantity which is tixed is called 3~ ... P;f

i) The arranpement of data in rows and calumny: :aflu:i

Wl MAREN OF 8 e g 3 tonstant tsell, L
] =um of deviaton from ... -18 rern El_l
wi Varinnceol & «owi— o 15 gRrg, E'
il inclew rumbar ol single varia l:-i; |8 ==ee . ||1f:fa;u number,

Wil At of an pectble putenimes of o randar l_:l:Ph‘iI!lHI"I' (1L F1TTY, S —
i A discrete probebility distribmion may be rprlrcﬂnl-d by a,

1) Mean and vanance of a binomial distribition arg = — - AR e somremar,

Q.2: H]Dnﬂﬁlt {l:llum TP P

o D R D T

e " .-"1
bl Write down the main charagteristics of Syatiatics 16

Q.3: ) What are the aualities of food averapn ! 10

h]Th: deviailons fonn 35,5 Al S vulugs are-184.- 0,9, 0.2, 107 %.06,255 1%.70
130200, 164, 187014 3,08 ard 4.0, Caleulicilie srthimetic mean, 1]
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Time Allowed: 03 Hours Pass Marks: 40

Note: ATTEMPT FIVE QUESTIONS. QUESTION NO. 1 IS COMPULSORY.

bW 1r N i the binnka. 2%

Sum of e meeluw s el

The nema af eswh bur by luhhqun:'!tmpmm

A diseritration huving bev modes b caled  dienribution.

A poed avammgn abiould pot be effoomsd by wlnd

The ralue of sandied devisfion deea ot i o oomrinnd s sedled o subliecied

froma o] oheervaiinge.
T wbitiiapien Lad woliinly woll oo o posiinll gl m ey winicBlod ol i

I Sy lees A ol B e o
Tho monn of prodability disribetion b called
Amodem wilabls lGalo cowd ps w:HJL
Hinousal distribwtion is srmmerictl whas
Q. ¥ 2 ) Derng Procartpehic and Infrserelf! Mﬁ-ﬂwwﬂm
b) The Asithmotic Wiss sof Oecicetfic Mamn 5f thiee micabers are 34 and |2
risapsiivaly, Phﬂnﬂhmnum.mmmmm#ﬁthm
i b 9, : (L0
00 %en) Compeer oal=olobed manh ol ouoideed devistion Snm 90 obsktietion s 42 and 3

vk “51“‘- m“hﬁ'ﬂﬂmﬂmﬂ#u wﬁ;dﬁ

mﬂ-ﬁu ol voelBirimr of puritloan

h;wh-nmb;r.kmumhm..mm uf lbe freguengy eurvo ae
meevared by tham? (1010

j.!u. H-.'- a) Canpars tie Felowug Catileps.

F!EI‘-‘:‘- c BB B

(10K-Hi)

Q M Sra) A bos sonming 9 iokete mimbaed | fo 8, (13 kel are drisem from the box one o
tng, fimd S protabiliy et ey s shanaibrely eidier odd evim okl ir oven odd oven,

b) Tht peobuhiftty that o stdort will goe 2 pade of A, B oc C b siabistics voue ws 0,0,
0.15 and 053 racposthyaly, mhhmummﬂptumm

than {10+10)
LR T 'WH are mndory vumbess wrad how foen aee nm.‘uﬂ‘,n.;‘..n-:.
s Wiy agphiceuie, i

I Four hafla rew deniwe. froan & by cooteining 5 wise aud 3 bhlaek hallu, IFX desston the
et of whits halle deew, oo wilte down the possibls vum of the tndam skl

X (10s100)
4 ¥ Tan) Fud (e probabiity disribedon of tha mmbes of baye b fanlfies with tdues sildon,

ammestiiyg eguud prdbubilites fie boys and girla,

W) A sawrizmma sadom yacable X s & deaily tastion /U2 = =5 e =3 00 N,

Figl s)PR-35 HPRAEDS o) WR=15 {10110
ol ) Wit iy o B insniad wrpwekoens? Gilve ) prmpewilog?

L) Fous dive see thrown end the mumber of dhm in b srew b noonmeled This b
rejiéated 100 fHimea Write dewm the theametical fyurudies 0, 1, 2, 1 &@d 4 Sow
Culoulatt the moss =1mber of sl o 0 elugle o,

TRl 4N
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Nk ATTEMPT FIVE QUESTIONS, QUESTION NO. T 18 COMPULSORY,
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. Mo

. New T

1 ENin 1he blanks.

L,
it
i,
Iy,

W
wi

Wil
wiil

e

Chucaiionns

Msirks

A vnriabile s aillesl cooeeoecees whien iy value cannet be exactly determined,
A variable that takes aumerical values 15 callod wes e e v ialile,

The arca of cach bar i ssessssessi s jo e frequency it represents,

Im wymmetiical distrabution, e thiee averoges mean, median cnd mode
= 4 el

S of alrolute deviations gre sapim oo i computed fFFom e ———_
Cleometric mean i3 4 auilable average 1) o e eeennaee il

A set of subsets of set s enllod < ovem oo smnnes of the set

A el conlalning only one elame o is cobied -~ e mel,

Random varliBle s also called « cwebe.. .. variable.
Blrnmu&hhﬁllllnrtull'l‘ar - e w—— Y

(. No.2

- Nod

~ BrRinotars.
a) Dhstinguish between qualitative m:.l 1;*.....ﬂmr;w rhibles by giving examples.
b) Cakulate the geometiie mean for e I'rﬂ‘lnwyitg ungn?i:pru da of the
percentoge changes in the welght of cighe animaly,

A3, 30, 35,40, 11, 32, 48 X1

10

n} The velation between uﬂhnﬂﬂu maand A, M), peomatnie meon (G. M) and
harmonie metn (M)
AN TN 2HM
under what sitpation these are equn!,
b} Anthmatic mean of 15 yalues 1 20 dnd by adding 3 more values, the mean
remuing 20, Find the new three adoes. o ration In athie n1i124

O.NoAd

) Wk mhen % nlmw_mu i‘i‘ﬂTnnrhh? What_aupects of the quency

cur 'nl "f""" D 4
b) Calé ln j \.

marks. "'h_f Hﬁﬂiﬂﬂ; lelh‘iﬁulluﬂ

45, 32. 37.45. 39, 36, A1, 48 and Jt.

10
10

(L Na§

(2 Nud

a) Compre the following concepte
i Simple sl compositc e
i, Fixed und cluiln base et
b) An inquiry into the budgers of the middle class familios in w cily of
England gave the following mformation. What change in cost of lviag
the Ogures of 1929 ghow as compared in 19287
Food Reot Clothing  Fuel Mise
Expectes 35% 15% 2% 0% 20%
Price {1928) 150 ;M 75 25 40
Price (1929) L8 40 65 23 48

5 rr———r——s

@) Esxplain with un.mplu the terms. modom experiment, sumple space and
AN event.

b} A purse containg 4 silver and 3 copper coins,  If a coin I selected m
random from one of the purses, Wihal is the protwbilivy that it is &
(1) Silver coin__ (1i) Copper ¢oin

O.Nao.r

Q.Nul

in
1

N} What properties a mathematical function should possess to be a probabiliy
function and probability density function?

by A aod B thiow w die lor s priee of Ry, 11, Which s 10 be won by the player
who first throws & 67 11 A has the firnt thiow, what are thelr respoctive
__expectaliony’

1
10

11 The mean and variance by the binamial distribution arc 6 and 24 respectively.
Find p and n, the two pacometers of 1he binomial distnbution.

b) Five dice aie tossed 96 times. Find the expecied frequencles when throwing
of a4, 5 or 6 is regarded oy guccess.

in
1
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Note: ATTEMPT FIVE QUESTIONS. QUESTION NO. 1 1S COMPULSORY.

(0. 1.

Fill im the blanks, 0
i First hand eollectod data are colled .
ii. A frequency tuble can be represented griphieally by 2 =
. A pood wversge should not be effeetod by values.
iv. A menmre of dispersion s :
v, Geometric mean 18 a sultable avemge in methad,
vi. A wel containing only pne element 4 eolled sel.
vii | Random variphle isalsocalled - vauhble
wiil, | 1fX and ¥ are independent vaiido, ve | ables then ELXY)
| Vae(kY)ye A B H N
x In hinomia) experiment successive riuly ue
Q2 | = Define the following terms: . 10
Varisble, Constant, Quantitative Varishle, Qualitatve variablé, Discrete variahle,
Continuons vardfable _ -
b) What are different methods of peeseriali | of sifistical data? 10
04 (A What do you mean by Quauiles, Deciles and Percentiles? Also write duwn theu | 10
formmubue, 3 24
b) The log of 3 valnes is given balow: 10
0.0320:0:6020, 09030 . =
Show : ?‘ D e am o g
00, |a) Deefine L ind b boeiig Wﬁg vantuges | 10
b) Caleulate i a s %: iation | 1O
Mark:
45, 32, 37, 48, 39, 36, 41, 48 and 31
Q5 |a) Pefine an index number ind describe (he different types of mdex number. 10 ]
h) Find the index numbar of price from e ollowing data taking averuge price of ull | 10
yeurs i Lhe base.
Vems | 1970 | 1971 | 1972 | 1973 [1974 | 1975 | (676 1977 ]
[ Prices | 15 1% A1 30 37 | 38 | 40 | 4
Q6. [m) State and prove additional luw for imutually exclusive events, 10
h} Two umns contain respectively 3 while, 7 red and |5 black & |0 white balls, & red 10
snd © black balls, One ball ix taken from each wm. What is the probability that bath
- will be of the ame eolour?
0.7 a) What are random munbers? How can they be getented! Lixplain the applications of | 10
random tambegy. :
by Let X be a random varinble sith probability disiribution as follows. 10
x 1 2 3 3 5
A | 0125 | 0.45 |05 10,05 [0,125
- Find moun and variance. o
.8, | a) Define the following lenns: 10
| Experiment, Tnal, Outcome, Random Experiment _
h) 15 & binonsial dlsribution, mean and atandad Jevistion were found to be J8 and 5.6 |10
respectively. Find p and n
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Statisties-1 (394) Maximum Marks:

100
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03 Hours Pass Marks:

) -

| ). No.

Q.No.d

e ——

Q.No.5

Q.No.6

Note: ATTEMPT FIVE QUESTIONS. ALL CARRY EQUAL MARKS.

Questions

Marks

a) Define the word statistics and expluin 11+ different meanings.

A | b) Define primary and secondary daia with examples.

(10+10)

a) What are the different methods of representation of statistical data?

2 | b) What sre measures ol location? Whar are the properties of a good average?

(10+10)

a) Define arithmetic mean. Give its pierits and demerils.

b) Compute the Mean and mode for the fbltuwi | data;

Classes | 86-90 | 91.95 | 96-100 Jgﬂ -105 1o [ 114-115
g 6 4 10 3 I

(10+10)

| a) Discuss the different munum of dispersion. Deseribe the method of

computation of any 1we of them with mﬂuh;: examples.
b) Calculute the strggl_uﬂ i ing distribution:
X 130313233 34135] 3|

fld4 |8 [23[35]62 18

!

39
!

35."
44

4

(10+10) |

a) Write down the uses and limitations of index numbers.

l_'lgl.] Construct chain mdlc:s for the ﬁ:llomng years, taking 1940 as base.

lmh-ﬁ‘_ N - ﬂ-:ﬂ Year

$a07|"
Rice 2.95
3. 4[1

3.60
Maize 3.10 3.50

1

943 '
400
275

e i

4,50

- £ i
420
2.75
.70

(104 10)

| 2) What do you understand by sample space, event and compound event?

b) A bag contains 9 white and 12 black balls. Find the probability of drawing
5 black balls out of the bag containing 21 balls,

(10+10)

0Q.No.7

Q.No.8

A lor o= 3 trails,

a) DifTerentiate between discrete and continuous random variable and give an
example of each.

b) A committee of size § is selected from 5 men and 3 women. Find the
expected number of female members on the commiittee.

(10+10)

a) Define the binomial probability dmmhullm
b) An event has the probability p = ; . Find the complete binomial distribution

(10+10)
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il
.
v.
i,
vii,

viii,

Q. #2:

Q.#3:

Q.1 4:

Q.#5:

Note: ATTEMPT FIVE QUESTIONS. QUESTION # 1 IS COMPULSORY.

Q. # 1: Fill in the blanks; 20

A variable s called when its value cannot be exactly determined.

In Histogram, with unequal class intervals, the area of each rectangle & 10 class
frequency.

In qualitative data, the most suitable average is _ .

A measure of dispersion expressed as a coefficient is called _______ measures of dispersion.
In ' both quantities and prices are used.

Two events are if they have no common point.

The probability function is _ function.

The mean of probability distributioniscalled

Binomial distribution has parameters,

Binomial distribution is symmetrical when

a) Distinguish between primary and secondary data and give different sources from which these
arc obtained.
») What are different methods of representation of statistical data?

(10+10)
a) Define arithmetic mean, geometric mean and harmonic mean. Explain the sifuations when cach
of them is used perfectly?
b) Calculate geometric mean for the following ungrouped data of the percentage changps in the
weight of eight animals. _ .
45, 30, 35, 40, 44, 32,42, 37
5 e . (10+10)
a) Explain the difference between absolute dispersion and relative dispersion. Describe the
properties of the standard deviation.
b) Calculate first four moments about mean for the following set of examination marks.
45, 32,37, 46, 39, 36, 41, 48 and 36. )

_ (10+10)
a) What is an index number? Give the uses of an index number.
b) Compute Fisher’s index number for the following data:
i : Base Year Current Year
Commodities Price | Quantity | Price | Quantity
A 7 70 5 49
B 5 27 7 28
C 10 35 9 | 29
D 9 50 | 4 42
E 3 16 10 25
(10+10)

Q. # 6: a) Define mutually exclusive, independent and dependent events.

o #7:

o #a&

b) A set of eight cards contains one joker. A and B, are two players, A choose 5 cards at random,
B takes the remaining 3 cards, what is the probability that A has a joker?

(10+19)
a) Define random variable and give an example to explain it.
b) There are three children in a family. Let the random variable denote the pumber of boys in a
family. Write down the possible outcomes and the values assigned by the random variable

assuming equal chances for boys and girls. o
16+10)

a) Find the binomial distribution whose mean is 12 and standard deviation is 3.

B) The incidence of an occupational disease in an industry is such that the workess have 20%
chance of suffering from it. What is the probability that out of 6 workmen:

i) not more than 2 will catch the disease

ii) 4 or more will catch the discase
{16+10)

Good Luck
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'_’l_'ime Allowed:

03 Hours Pass Marks:
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Note: ATTEMPT FIVE QUESTIONS. ALL CARRY EQUAL MARKS.

Q. No.

Questions

Marks

Q.No.1

a) Define the word statistics and explain its different meanings.
b) Define primary and secondary data with examples.

(10+10)

Q.No2.

a) What are the different methods of representation of statistical data”?
b) What are measures of location? What are the properties of a'good average?

(10+10)

Q.No.3

a) Define arithmetic mean. Give its merits and demerits.

b) Compute the Mean and mode for the following data;
Classes | 86-90 | 91-95 | 96-100 | 101-105 [ 106-110 | 111-115
f 6 4 10 6 3 ]

(10+10)

|

Q.No.4

a) Discuss the different measures of dispersion. Describe the method of
computation of any two of them with suitable examples.

b) Calculate the standard deviation for the following distribution:
X130131)32133134(35136|37|38/39
f |4 |8 {23/35|62(44(18/4 |1 |1

(10+10)

Q.No.5

a) Wrile down the uses and limitations of index numbers.

b) Construct chain indices for the following years, taking 1940 as base.
Item Year
1942

1940 1941 1943 1944

Wheat 280 | 340 3.60 4.00 4.20

Rice 2.95 3.60 2.90 2.75 2.75

Maize 3.10 3.50 3.40 4.50 3.70

(10+10)

Q.No.6

a) What do you understand by sample space, event and compound event?
b) A bag contains 9 white and {2 black balls. Find the probability of drawing
5 black balls out of the bag containing 21 balls.

(10+10)

Q.No.7

Q.No.8

a) Differentiate between discrete and continuous random variable and give an
example of each.

b) A committee of size S is selected from 5 men and 3 women. Find the
expected number of female members on the committee.

(10+10)

a) Define the binomial probability dlsrnbulmn

b) An cvent has the probability p == . Find the complete binomial distribution
for n= 5 trails.

(10+10)
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i
ii.
ii.
iv.
V.

vi.
Vil.
Viii.
ix.
X

O #2:

Q. #3:

O #4:

Q. #5:

Fill in the blanks: (20)
The quantity which does not vary from individual to individual is called

A Histogram is a bar chart with no space between its bars.

If extreme large or small values are changed, values of __are not effected.
A measure of dispersion is

Shepherd correction is applicable when the frequency distribution tends to in both
directions.

Geometric mean is a suitable average in method.

The number of subsets of a set containing n points are
Random numbers are obtained in such a way that each digithas ______ probability.
A random variable is also named as a variable.

Mean of the binomial distribution is np and its variance is

a) Distinguish between primary and secondary data and give different sources from which these

are obtained.
b) Reciprocals of x are given below:
0.0267, 0.0235, 0.0211, 0.0191, 0.0174, 0.0160, 0.0148

Calculate Harmonic Mean of the data.
(10+10)

a) What do you understand by classification and tabulation? Discuss their importance in a

statistical analyslb
b) Arithmetic Mean of 15 values is 20 and by adding 3 more values, the mean remains 20. Find

the new three values if ratjo is a:bie :: 3:2:1.
(10+10)

a) What are moments about mean and about an arbitrary value. Give the relation between them.

b) For a group of 50 boys, the mean score and the standard deviation of scores on a test are 59.5
and 8.38 respectively, for a group of 40 girls, the mean and standard deviation are 54.0 and 8.23
respectively on the same test. Find the mean and standard deviation for the combined group of 90

children.
(10+10)

a) Define weighted and un-weighted index numbers and explain why weighted index numbers are
preferred over un-weighted index numbers,

b) Calculate L&speyre s , Paasche’s and Fisher’s ideal index for the followmg data with 1992 as-
base:

Ttem Average Price (Rs) Quantity (Units)
‘1992 1993 1992 1993

‘Wheat Flour | 4.38 457 | 20Kg | 16Kg
Rice 14.15 | 1558 | 10Kg | 12Kg

Moong Pulse | 1867 | 1728 | 1Kg | IKg
Gram Pulse 10.41 1636 | 1Kg 1Kg

(10+10)

Q. # 6: a) Define permutation and combination and discriminate between these two.

O #7:

Q. #8:

b) Suppose that it is 9 to 7 against a person A who is now 35 years of age living till he is 65 and 3
to 2 against a person B now 45 years of age living till he is 75. Find the probability that one of

these persons will be alive 30 years hence.
10+10)

@) What is meant by probability distribution? Distinguish between discrete and continuous
random variables by giving examples.
b) There are three children in a fam:ly Let the random variable denote the number of boys in a

family. Write down the possible outcomes and the values assigned by the random variable
assuming equal chances for boys and girls.

(10+10)
@) Find the mean and standard deviation of the Binomial Distribution (q + p)"
b) A committee of size 3 is selected from 4 men and 2 women. Find the probability distribution
by hypergeometric experiment for the number of men on the committec,

(16+10)



